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fRRE A TS £3-3 #E
g s s | wEs || aE | B8 |we] #= it HEE aE BE [we] BE
RIER (B2 Bt 1,650 & ERBSN =5 EHUN'F 1,000| &
Eih HErE g H=E |me  HE £ 400|
RIF fiftE s $E'+3°3k 250/ {& 4 st ENVF 350( &
deiEE =EN KFMIV2k & REA S RN BT 200| ¥
B HR1L 7Y & Bt HEE RE = el {HE SBES ENst I ) 900| kg
=T YN A6~8A 100| {& FIF Eik ET5 100| ke Z®5 EVEELTIE- YV 50| &
EHs & ¥eds 2 by 88 ke Ra5n ) #1575 200| &
= &=h INFI{7Y8k & B kst e F PN 300| kg E 900 kg
I S 7Y N & IMEE ETT. Thnast 200| kg 2,000 &
&t 350 f& A+hB [FEAOHE5 45 ke 3,200 &
*E ey ml 150| kg
il kst EEN7Y 150| kg &8  4150kg
R& B &5 B ke 5,120 {&
Eih HEE e BE [mal HE  |E EES &ET77. 83755 100 ke 2,000 #
FI& LxE ¥3°Y. 1744 150| {& ¥ AT 100| kg 2,000 #% 4558
hEE BEVIVE )N 200| {& T2 Fichi: AETA, LR 100 ke 3,200 1 25E
- 200 & xR FEETA M0 H 400( kg
3821 YU1h. 7Y 100 {& @ s FE.Lb520°45 150( kg
e 75 &R BEVIVE )N 600| {& 5 1,750 ke
BREMESN  |EIA, YIIhSE 100| {&
=S 7. 75%45 & e
BEEIR E7R45+ &
FElEsH £, £57°%F 100| {& Eit HEE it = |[mel  {HE
IMER hexs & f&fm zR #9754 150| &
x5 B#5 b ab:-) 100 {& s 50| &
R 100| {& wiEHN 150| f&
¥R Y25 100 {& = 445t =
Izs&E ¥97. $3°45t 100| & 1) Lyask 100| &
M ST 150| {& R #9745+ &
EAR N34hsh 150 {& HE =i} 1R 50| &
AN 4N 500 kg B2 H3' Y4 100| &
HEAR it WThAS 100| {& B8 Ut 22 50| &
EE A FIRF ke Kav1st 120( &
B 500 kg il]=] Y- 445 100| 1&
2,250 {8 5 870 {&
(5373 g
Eih HEE e BE |ma HE Eit HEE it HE |uwl  EE
Ei& iR D744 150 {& HER 5 HE 1 500| kg
55 *U5t 300| {& ;7.8 =HN THY 300| kg
[ERY 445 50| & FES B P =] 50| ke
Bt EUL)S 100 {& B®E M5 =k =3 100| kg
x5 P& INIES} 100 {& PES/al) S |/ V2 ) N - L b 2,000( #%&
KiRst N4hst & s AkESN |EIE 50| kg
Fiaist (775 50( {& E 1,000 kg
X LL1les WHhyt & 2,000 #&
=B At ¥97 100| {&
= A&ER L3 100| {&
B Ty 4n. Y455 250| {& s
all 4]l | 350( {& i HEE iz B el {EE
435+ 100 {& REA& St RE S = 3,000| #&
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